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The figures in the margin indicate full marks
Jor the questions
SECTION—A
( Inorganic Chemistry )
( Marks : 27)

1. oo fraaRT v Tewh Af e : 1x5=5
Choose the correct answer of the following :
(@) [Colen),Cl,]* WRFHI® CoT &R Sgy 3°7

The oxidation state of Co in the complex
[Co(en),Cl,]* ion is ‘
M) 2 (ii) 6 (iii) 3 (iv) 4
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A "":(b) o e -
Y T 7 , RS st

In which of the following complexes
geometrical isomerism is not possible?
() v
~ Tetrahedral complex
(i) SBFARR oy
Octahedral complex
(i) Viowarer qm

Square planar ¢ °mpléx .

: angqftheabove

(€ v o cvae Mn (mF ©w kGl
W Rap

The high spmmnﬁgIJré.uon of Mn (III)

ion in octahedraf field js

0 :t293ég-""_w,_, o

(i) ~,t_2'g‘3e 1

(iii} ¢

2943 (

9
ﬁQ) g%feéz
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(3)
q
(d) CCENTS A el (X (ST BN
SRECO! T A
Th common oxidation state of
e
lanthanide is
(i) +2
(i@ +3
| (iv) +2 TF +4 Ll
Both +2 and +4

?
wae fRm ol S ‘ﬁ‘@‘!. -
“ ch of the following jonsis colourles:
Which o
(i) Sc3+
@) Ti%
(i) cr3t

(iv) Fe3*
3 w‘q . . :
’ Answer any three of the following questions
SW

(a) mmﬁmamWﬂWM|

rmula of an

Give the name and fo
ambidentate ligand.
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(5)

(© e e foRE waRee Ty 90
Give three applications of Latimer
diagram.

4. oo AT R @0 PR T fa 2x2=4
Answer any two of the following questions :

(a) s il (ReIAE TUPAC R sl m forsn

|

|

! (R o o) ¢ ,
Write JTUPAC names of the followin

? (any two) :

(i) K3[FelCNel
| (i) [Co(Br)NH3)s1S04
‘ (ii) PtPy)4]1[PtCl4]

(b)- [Co(en)2012]+ R RBRewafeer

weanal 291 |
Discuss the
[c:o(en)QCIQ]’r ion.

stereoisomerism of

el R OF SRS [Fe(CN)g]* "3 sibm
ewwww

Explain the structure and magnetic
property of [Fe(CN)6]4' in the light of
valence bond theory.

()
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SECTION—B
( Physical Chemistry )
(Marks:26)

6. Eﬁmﬂfg%ﬁ@:

Select the correct answer :

(@) ooy A R S FTFT 7T A
The unit of rate constant of first-order

reaction is

(i) mol !

1x3=3

(i) Lmol™
(i) S
(iv) s~!

(b) cmﬁﬁﬂwﬁsﬁﬁiﬂi’m@m
(TR SR (FICD! SO R N2
A real gas obeys the gas laws under

(i) &% oF1

high pressure
(i) fAw T

low temperature
(i) ' S

high temperature
(iv) S B8 T

None of the above
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(8)

& I TAfOC!
@ 1 T 5 oo oy ARR FR9G 2'a (c) L i@ gall jife period method of
' iquid ;i . alf- )
2:: zse of a liquid in 5 capillary is getscnb.e -mgeo?der of a reaction.
e eﬂnum
) T |'ZAR ST T
() T | B T ‘{ff: A
osmosis ’ | (d) t;:‘ "ﬂm‘ﬁi‘ gq@ B g ot
(@) e u— e T
viscosity

i ite the
. viscosity. Wri
Define coeffic et;r(i,:e the name of one

g1 unit of it. 4 in laboratory for the

: f viscosity.
. apparatus of coefficient o
surface tension

' cleterminatj'orl
(iv) €% 9Brs w7y ' g
None of the above () at
Show th v. 3
Fete =2
7. O IR R @I R e iy ox3=g RTe
Answer any three of the following Questions : | RfER T fa

(@) TR NP (Z) B2 CO, (g A

% BIRF (Z) 7919 voR

s of first- and second-
Y =
FI (273 K Tweore) |

. =12
wes i : 3x4
What is compressibility factor (Z)? Draw ;] @l wfRo

the plot of compressibility factor (2) | 8. o LN

us. Pressure for CO, at 273 k. |

of the following questions :
| Answer any four
(b) 3R] AR Toro ——

qEs

(@ °H o .

Write the !
Deduce Bragg’s equation.
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aF a ¥ b3 oo forn |
ificances of van der Waals’
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( 10) ( 11)
R i
o a1 o 9. weq Tl 5
SO 2o o IF AR 9o o171 o ersg R G O
Deﬁne mean fr, Wﬂ‘ﬂl ]’ ‘ Answer any one of the following questions :
effect of ee path. Dj ‘
mean, fl_eepl:;es:sul'e and templ;cuss the @ @ " “fs W & 32 SR
- ath, ature on ﬁwﬁm@aﬁﬁwmﬁ%
c .
RIS gy g Tt R AR, R 3
Lo SR oI e o 3 What do you mean by activation
Descrip, energy? HOW can the activation
vy e a method energy of 2 reaction be determined
lab Ce tension of determining by using Arrhenius equation?
Oratory, of a liquid in the
@ (ii) T ARy S o1 5 sl
R spoerees TR o ' 2
m"ﬂﬁq w5 R T ? I 937 ¢ o Write a short note on Frenkel
’%W%2:2:3 TCS defect.
What TIT RAefy
do 91
o 80 390 mesn by Vi i o son x e e = 5 A
o> in the f'i?“ intercepts the thres ot R ¥ °
e o . al .o 2: . ree
Miller i, dices of 2:3, then what is CalC'C'llate the root mean square
€ o the plane? velocity of oxygen! molecule at 300 K.
T Riey '
(i) O % TN o1 T foram 2
IR A— RiFeTs s Write two postulates of kinetic
% M of gas-
Dedyce the i T Refe 1 . theot :
the ¢ Integrat, |
ﬁrst‘Order reactizi rate equation for kK
A—
Pl'Oduct |
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